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2. 0.50 mol of Iz and 0.50 moj of Br are put in a 1.0 L container and a
‘ following equilibriym: -
12(9) + Bry(g) < 2 IB

rg) At equilibrium, [IBri=0.84 M
What is the value of

the equilibriym constant(k) for this n?
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Initially [NOBr] = 2.0 M; [NOJ=1.0 M:
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4. Usetherxn: 3 Ha(g) + N
Initially [H,] = 1.0 M; [No]=2
At equilibrium, [N2]=1.0 M

2(g9) © 2 NH; (g)
.0 M: and [NH3]=2.0M.
Calculate the value of Keq
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ame for the concentrations of reoctants and products and for the value of K.

N_;LE_) + 3H2(g) <#'> ZNHs(g) + 22.0 keal

" “omplete the following charts by writing left, right or none for equilibrium shift, and decreases, increases or remains the
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NaOH(s) <==> Na*(aqg) + OH'(ag) + 10.6 kcal (Remember that pure solids and liquids do not affect equilibrium values)

Stress

Equilibrium Shift

Amount NaOH(s)

[Na*]

[OH]

K

28. Add NaOH({s}

79. Add NaCl
{adds Na*)

30. Add KOH
{Adds OH)

31. AddH*
{Removes OH’)

32. Increase
Temperatuye

33. Decrease
‘Temperature

34, Increase
Pressure

35. Decrease
Pressure




